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ENEE2301-Network Analysis 1
Final Exam-January 19, 2016
Instructors: M. Jubeh , N. Ismail & Khader Mohammad

Student Name: D:

Section:

Notes and Instructions:

s Read each question carefully before starting your solution and answer in the assigned

space.

o

s Write neatly and clearty and leave only one answer for each question.
o Use of cell Phones is categorically prohibited so please make sure to turn them off.
o Percentage (%) of total mark is given for each question. Budget your time accordingly.
o The results of this exam will be evaluated according to ABET "a" and "e'" student

outcomes and the questions are designed for that.

Part One:
Probleml. { 15 points) To assess "'a"" student outcome
Choose the correct Answer:

1. The equivalent resistance R,, between the two # By ’
terminals A and B is 20
(M2 0 () 2.8 & (JII) 1 & (Iv) 2.5 Q ,
' R,y = 24 § 2 L2
@ 20 (VD3Q  (VIDISQ  (VID33Q
2. In the circuit shown below, the value of Vy is +=
50
(Hh10 Vv ary-10v (H4V (IV) -4V Cf 10V
| " Jx 04 v,
(V) =6V (Vh oV (VIh 6 V (VIII) 5 V B ; .
.. , = 3A 3A
3. In the circuit shown below, the value of I and _E—' PR
the power absorb by R1 are = :
DGA, -DW @M -64, -0W ([ID6A, IW ~64, W Ee] 10V
V)34, —30W (V) -6A, —0W (V) 34, OW (VI 34, OW




4. In the circuit shown below , the value of V;is W

M2V -2V () -5V  AV)SV v () a O
- I

(V) =3V 3V (V) 05V (Vi) -05V

5. in the circuit shown below , the value of 7 s

24 6 6
04 Mm-c4 {HZ4 (IV) 2
% —%A (VD) -84 @SA (VI -2.
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Problem2. ( 10 points) To assess "a"' student outcome
For the circuit of Fig.(2) , determine Vx using Superposition.
30
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Problem3: (10 points) To assess "a'' student outcome
For the circuit of Fig.(3) , find power dissipated in the 0.2375 ) resistor.
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Problemd. ( 15 points) To assess "e"' student outcome
The following three loads are connected in parallel to a 240Vrms 60 Hz Ac generator:

Load #1 has Pi= 600KW and has a pf1=0.8 lagging.
Load #2 has P2= 400KW and has a ISzl = S00KVA and has a lagging pewer factor.

Load #3 has Q3= -207KVARs and has a pf3 = (} leading.

a) Determine the total apparent power of the three loads.

b) Determine the power factor of the combined load.
¢) Determine the value of capacitance or inductance that will need to be added in order to

make the overall pf = 1.0, assuming that the voltage across the load is to be kept at
240Vrms (with u)—377rad/sec)
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Part Two:

Problem5. (15 points) To assess "e" student outcone

The switch in Fig.(5) has been in position (a) for a long time .
At t =0, it moves to position (b).

Calculate ix(t) for all t > 0.




Problem 6. ( 10 points) To assess "'a" student outcome

After being open for a long time , the switch in the circuit of Fig.(6) is closed att = 0.
a) Find vc (07)and il (07).
b) Find the differential equation describing il(t) , for t> 0.
¢) Find the characteristic equation of the circuit of Fig.(6) .

C o dig(0T)
d) Find 1t
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Part Three:
‘Problem7: ( 12 points) To assess "a'' student outcome

"~ For the circuit of Fig.(7) , use the thevenin’s equivalent circuit to find voltage Vo

(note that the two inductors have a mutual.inductance between them)
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oblems: (13 points) To assess "a" student outcome
For the following balanced three phase system shown in Fig.(8), the source is A -

connected positive sequence and the load consists of parallel A-Y loads, given:

9,5 =380 (07 Vi 7y = 00057y = ()7 =(6+ )0
1) Calculate the phase currents of the delta connected load : I ABA® IB CA® ICAA

2)Calculate the phase currents of the Y - connected load : 1 AN’ IB N IC N

3)Calculate the magnitude of the line current Ia A

) D losd
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